# MANATEE COUNTY GOVERNMENT INTENT TO AWARD

SUBJECT	2014 Rehabilitation of Satellite Lift Stations- Group 1	DATE POSTED	MC6/18/14 V SE DS 6/18/14 V SE CC 6/18/14 V SE
PURCHASING REPRESENTATIVE	Chris Daley, 749-3048	DATE CONTRACT SHALL BE AWARDED	Seven days after the date Postec
DEPARTMENT	Public Works/ Sherri Robinson	CONSEQUENCES IF DEFERRED	Delay in project
SOLICITATION	IFB #14-1678CD	AUTHORIZED BY DATE	Dennis Wallace

#### NOTICE OF INTENT TO AWARD

Notice of Intent to Award, Invitation for Bid # 14-1678CD, 2014 Rehabilitation of Satellite Lift Stations- Group 1, to the lowest, responsive and responsible bidder, John H. Granger Maintenance & Construction, Inc. of Plant City, FL for a total bid of \$208,399.95 (Bid "A", 160 calendar days).

#### **ENABLING/REGULATING AUTHORITY**

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.

Manatee County Code of Laws

#### **BACKGROUND/DISCUSSION**

• The Work consists of furnishing all labor, materials, equipment and incidentals required to rehabilitate three (3) Manatee County Utilities' satellite lift stations. The scope includes replacement of discharge piping, fittings, vales, guide rails, pipe bracing, base ells, mounting plates, wet well cleaning, wet well lining and/or wet well/valve vault top replacement. Formal competitive sealed bid procedures were followed resulting in a total of two (2) bidders submitting a sealed bid for consideration:

Hillsboroug County
John H. Granger Maintenance & Construction, Inc.

Bid " A" (160 days)

\$208.399.95

Bid " B" (220 days)

\$208.399.95

John H. Granger Maintenance & Construction, Inc. \$208,399.95 \$208,399

Volusia County
Danus Utilities

\$253,012.10 \$253,012.10

- On June 11, 2014 a memorandum was received from the Public Works Department recommending award to John H. Granger Maintenance & Construction, Inc. of Plant City, FL for a total bid amount of \$208,399.95 with a 160 calendar completion time.
- Funding for this project is provided by Utility Rates in the budget account keys 4020019707-534000/5005102-0004 (Sewer: Satellite Lift Stat R&R).

ATTACHMENTS	<ul><li>Department</li></ul>	FUNDING SOURCE	Sewer: Satellite Lift Stat R&R: 4020019707- 534000/ 5005102-0004 Funds Verified Insufficient Funds
(List in order of attached)	Recommendation <li>Tabulation</li>	(Acct Number & Name)	
COST	\$208,399.95	AMT/FREQ OF RECURRING COSTS (Attach Fiscal Impact Statement)	N/A

#### **MEMORANDUM**

To:

Melissa M. Wendel, CPPO, Purchasing Official

From:

Jeff Streitmatter III, P.E., Project Management Division Manager

Date:

June 11, 2014

Subject:

2014 Group 1 Rehabs

Granger Maintenance and Construction, Inc. Recommendation for Award - IFB#14-1678-CD

The bids for the above referenced project have been reviewed by staff. The bid tabulation form is attached for your review. It is recommended that the contract Bid "A", with a construction time of 160 Days be awarded to the lowest responsive, responsible bidder, Granger Maintenance & Construction, Inc. in the amount of \$208,399.95 and in accordance with the terms and conditions of the bid package. Upon completion of project award, please provide a copy of the purchase order assigned to the contractor. The funding source for this contract is Utility Rates.

Please contact Sherri Robinson, Project Manager if you have any questions regarding the attached documents.

Thank you for your continued assistance.

JS/sr

cc:

Mike Gore, Director, Utilities

Ron Schulhofer, Director, Public Works

Sia Mollanazar, P.E., Deputy Director, Engineering Services

Sherri Robinson, Project Manager

Prony Bonnaire Fils, Engineering Specialist II, w/attachments

Project File: 0019707 - 9.2

Public Works Department Project Management Division 1022 26th Avenue East, Bradenton, FL 34208-3926

17 17 17 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1								
			Maintenan	ce &	Danus I Itilii	06		
					6214 Tortoise Creek Ln			
					Port Orange, FL			
DESCRIPTION	UNIT S	QTY	TOTAL BI	D PRICE	TOTAL BI	D PRICE		
Bid "A" Based on Completion Time of 160 Calendar Days	LS	1	\$208,3	\$253,012.10				
Bid "B" Based on Completion Time of 220 Calendar Days	LS	1	\$208,3	99.95	\$253,012.10			
Acknowledge Addendum #1				Yes		Yes		
Acknowledge Addendum #2				Yes		Yes		
Bid Bond			Yes			Yes		
Keyed By:	*************	No. Lance	CORP. Corp.	4		6/3/2014		
• ,								
Checked and Reviewed By: Sherri Robinson- Project Manager Date								
	Bid "A" Based on Completion Time of 160 Calendar Days Bid "B" Based on Completion Time of 220 Calendar Days Acknowledge Addendum #1 Acknowledge Addendum #2 Bid Bond  Keyed By:	DESCRIPTION  Bid "A" Based on Completion Time of 160 Calendar Days  Bid "B" Based on Completion Time of 220 Calendar Days  Acknowledge Addendum #1  Acknowledge Addendum #2  Bid Bond  Keyed By: Chris C  Checked and Reviewed By: Shea S	BID SUMMARY  DESCRIPTION  Bid "A" Based on Completion Time of 160 Calendar Days  Bid "B" Based on Completion Time of 220 Calendar Days  Acknowledge Addendum #1  Acknowledge Addendum #2  Bid Bond  Keyed By: Chris Daley- Checked and Reviewed By: Shea Shoun  Checked and Reviewed By:	BID SUMMARY  BID SUMMARY  BID SUMMARY  DESCRIPTION  DESCR	BID SUMMARY  Plant City, FL 33563  DESCRIPTION  UNIT S  TOTAL BID PRICE  Bid "A" Based on Completion Time of 160 Calendar Days  Bid "B" Based on Completion Time of 220 Calendar Days  Acknowledge Addendum #1  Acknowledge Addendum #2  Bid Bond  Keyed By:  Chris Daley-CPPB, Contract Specific Shear Shoun, PE- Engineer of Recompletion Reviewed By:  Checked and Reviewed By:  Checked an	BID SUMMARY  BID SUMMARY  BID SUMMARY  DESCRIPTION  DESCR		

Bid "A" Based on Completion Time of 160 Calendar Days John H. Granger Maintenance & Const. Inc.

611 E. Sam Allen Rd. Plant City, FL 33563 Danus Utilities Inc. 6214 Tortoise Creek Ln

				Plant City, FL 33563		Port Orange, FL	
NO.	DESCRIPTION	EST. QTY.	U/M	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
	College Plaza- RTU 113		TO LAY				
1	Wetwell Cleaning	SF	327	\$2.50	\$817.50	\$10.00	\$3,270.00
2	DR-11 HDPE Wetwell Piping	LF	42	\$15.00	\$630.00	\$75.00	\$3,150.00
3	HDPE Flange Adapters w/ Backup Rings	EA	4	\$300.00	\$1,200.00	\$250.00	\$1,000.00
4	4" HDPE Fittings	LB	8	\$20.00	\$160.00	\$300.00	\$2,400.00
5	BPIU.14 Pump Base Ells	EA	2	\$900.00	\$1,800.00	\$900.00	\$1,800.00
6	Pump Base Ell Mounting Plate	EA	2	\$600,00	\$1,200.00	\$850.00	\$1,700.00
7	S.S. Pipe Bracing, 6 ft dia.	EA	2	\$500.00	\$1,000.00	\$350.00	\$700.00
8	Raise Ex. Wet Well Rim	VF	0.7	\$3,500.00	\$2,450.00	\$2,100.00	\$1,470.00
9	Replace Ex. Wetwell Top Slab	EA	1	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00
10	4" PVC Vent, Sch 80	EA	1	\$300.00	\$300.00	\$500.00	\$500.00
11	Aluminum Hatch Cover, 36" x 48", Single door (Wetwell)	EA	1	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00
12	2" S.S. Pump Guide Rail System	LF	23	\$50.00	\$1,150.00	\$125.00	\$2,875.00
13	Intentionally Left Blank	Later Control		100 miles 100 miles			
14	Wetwell Liner, spray-on	SF	288	\$24.00	\$6,912.00	\$18.00	\$5,184.00
15	Intentionally Left Blank						
16	Grout Fill Ex. Drain, abandon	EA	1	\$100.00	\$100.00	\$300.00	\$300.00
17	4" Flanged Gate Valve	EA	3	\$800.00	\$2,400.00	\$525.00	\$1,575.00
18	4" Flanged Swing Check Valve	EA	2	\$1,500.00	\$3,000.00	\$800.00	\$1,600.00
19	4" D.I. Flanged Pipe	LF	8	\$100.00	\$800.00	\$100.00	\$800.00
20	Ductile Iron Fittings	LB	255	\$8.00	\$2,040.00	\$12.00	\$3,060.00
21	4" D.I. Flanged Adapters	EA	1	\$250.00	\$250.00	\$125.00	\$125.00
22	4" Male Aluminum Quick Coupler Adapter	EA	1	\$250.00	\$250.00	\$200.00	\$200.00
23	S.S. Adjustable Valve Supports, flange attachment	EA	2	\$300.00	\$600.00	\$400.00	\$800.00
24	Abandon Ex. Valve Vault	LS	1	\$500.00	\$500.00	\$900.00	\$900.00
25	Concrete Slab, Valve Assembly	LS	1	\$380.00	\$380.00	\$1,100.00	\$1,100.00
26	4" Gate Valve, MJ	EA	1	\$750.00	\$750.00	\$750.00	\$750.00
27	Intentionally Left Blank	, u		non to the man of the		the statement of the second	

Bid "A" Based on Completion Time of 160
Calendar Days

John H. Granger Maintenance & Const. Inc.

Danus Utilities Inc. 6214 Tortoise Creek Ln

611 E. Sam Allen Rd. Plant City, FL 33563

Port Orange, FL

				Plant City, FL 3.	2002	Port Orange, FL	
NO.	DESCRIPTION	EST. QTY.	U/M	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
<b>2</b> 8	8" Influent Line Plug	EA	1	\$400.00	\$400.00	\$1,500.00	\$1,500.00
29	By-Pass Pumping < 500 gpm	LS	1	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00
30	3/4 Inch Water Service	LF	10	\$20.00	\$200.00	\$20.00	\$200.00
31	Relocate Ex. Backflow, Meter, & Hose Bibb Assembly	LS	1	\$600.00	\$600.00	\$1,575.00	\$1,575.00
32	Intentionally Left Blank	En luista			Charles and State of	Histories and the lock of	
33	Intentionally Left Blank	THE PRESIDENT	(P111111111111111111111111111111111111	(a) (list a 13) (s			i Angelin kan dan belang dan Baya. Salah karan Salah dan dan belang
34	Intentionally Left Blank	STATE OF STATE	Married State of the State of t	<b>阿拉拉拉纳的</b> 加克			
35	Remove & Replace Sch 80 PVC Conduit	LF	30	\$100.00	\$3,000.00	\$75.00	\$2,250.00
36	Remove & Replace Electrical Mounting Structure	EA	1	\$2,000.00	\$2,000.00	\$3,200.00	\$3,200.00
37	Relocate Ex. Control Panel, Meter Can, & Safety Switch	LS	1	\$4,000.00	\$4,000.00	\$5,800.00	\$5,800.00
38	Install New Lift Station Antenna	LS	1	\$10,000.00	\$10,000.00	\$8,250.00	\$8,250.00
39	MOBILIZATION	LS	1	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00
40	MISCELLANEOUS WORK AND CLEAN UP	LS	1	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00
41	RECORD DRAWINGS	LS	1	\$2,000.00	\$2,000.00	\$1,350.00	\$1,350.00
	SUBTOTAL (College Plaza- RTU 113 ONLY)				<b>\$6</b> 8,0 <b>89</b> .50	280016	<b>\$76,584</b> .00
	THE OAKS -RTU 212	NAME OF THE PARTY.	70137			TENTE TO THE	
1	Wetwell Cleaning	SF	343	\$2.50	\$857.50	\$10.00	\$3,430.00
2	DR-11 HDPE Wetwell Piping	LF	40	\$15.00	\$600.00	\$75.00	\$3,000.00
3	HDPE Flange Adapters w/ Backup Rings	EA	4	\$300.00	\$1,200.00	\$250.00	\$1,000.00
4	4" HDPE Fittings	LB	8	\$20.00	\$160.00	\$300.00	\$2,400.00
5	BPIU.14 Pump Base Ells	EA	2	\$900.00	\$1,800.00	\$900.00	\$1,800.00
6	Pump Base Ell Mounting Plate	EA	2	\$600.00	\$1,200.00	\$850.00	\$1,700.00
7	S.S. Pipe Bracing, 6 ft dia.	EA	2	\$500.00	\$1,000.00	\$350.00	\$700.00
8	Intentionally Left Blank		(a)				
9	Replace Ex. Wetwell Top Slab	EA	1	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00
10	4" PVC Vent, Sch 80	EA	1	\$300.00	\$300.00	\$500.00	\$500.00
11	Aluminum Hatch Cover, 36" x 48", Single door (Wetwell)	EA	1	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00

74,898,45

Bid "A" Based on Completion Time of 160
Calendar Days

John H. Granger Maintenance & Const. Inc.
Danus Utilities Inc.
611 E. Sam Allen Rd.
6214 Tortoise Creek Ln
Plant City, FL 33563
Port Orange, FL

				Plant City, FL 33563		Port Orange, FL	· · · · · · · · · · · · · · · · · · ·
NO.	DESCRIPTION	EST. QTY.	U/M	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
12	2" S/S/ Pump Guid Rail System	LF	31	\$50.00	\$1,550.00	\$125.00	\$3,875.00
13	Intentionally Left Blank	Carl Stocker	Sales and the sa	D. W. Marie M.			
14	Wetwell Liner, spray-on	SF	314	\$24.00	\$7,536.00	\$18.00	\$5,652.00
15	Intentionally Left Blank	3/14		real home was not			
16	Grout Fill Ex. Drain, abandon	EA	1	\$100.00	\$100.00	\$300.00	\$300.00
17	4" Flanged Gate Valve	EA	3	\$600.00	\$1,800.00	\$525.00	\$1,575.00
18	4" Flanged Swing Check Valve	EA	2	\$1,500.00	\$3,000.00	\$800.00	\$1,600.00
19	4" D.I. Flanged Pipe	LF	8	\$100.00	\$800.00	\$100.00	\$800.00
20	Ductile Iron Fittings	LB	255	\$8.00	\$2,040.00	\$12.00	\$3,060.00
21	4" D.I. Flanged Adapters	EA	1	\$250.00	\$250.00	\$125.00	\$125.00
22	4" Male Aluminum Quick Coupler Adapter	EA	1	\$200.00	\$200.00	\$200.00	\$200.00
23	S.S. Adjustable Valve Supports, flange attachment	EA	2	\$300.00	\$600.00	\$400.00	\$800.00
24	Abandon Ex. Valve Vault	LS	1	\$1,000.00	\$1,000.00	\$900.00	\$900.00
25	Concrete Slab, Valve Assembly	LS	1	\$380.00	\$380.00	\$1,100.00	\$1,100.00
26	4" Gate Valve, MJ	EA	1	\$750.00	\$750.00	\$750.00	\$750.00
27	Intentionally Left Blank		To Jakob	And the state of t	in the second		
28	8" Influent Line Plug	EA	1	\$400.00	\$400.00	\$1,500.00	\$1,500.00
29	By-Pass Pumping< 500gpm	LS	1	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00
30	Intentionally Left Blank						vi Sanka opinik (m. 14. j.) Vijil
31	Intentionally Left Blank	OF THE					
32	Remove & Replace Electric Meter Can	EA	1	\$1,000.00	\$1,000.00	\$4,125.00	\$4,125.00
33	Remove & Replace Fused Safety Switch (disconnect)	EA	1	\$3,500.00	\$3,500.00	\$3,850.00	\$3,850.00
34	Remove & Replace Control Panel	EA	1	\$8,800.00	\$8,800.00	\$16,250.00	\$16,250.00
35	Remove & Replace Sch 80 PVC Conduit	LF	20	\$100.00	\$2,000.00	\$115.00	\$2,300.00
36	Remove & Replace Electrical Mounting Structure	EA	_ 1	\$3,000.00	\$3,000.00	\$3,400.00	\$3,400.00
37	Intentionally Left Blank	Sand Harley .				se s	
38	Install New Lift Station Antenna	EA	1	\$10,000.00	\$10,000.00	\$8,250.00	\$8,250.00
39	MOBILIZATION	LS	1	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00
40	MISCELLANEOUS WORK AND CLEAN UP	LS	1	\$4,500.00	\$4,500.00	\$3,000.00	\$3,000.00

# Bid "A" Based on Completion Time of 160 Calendar Days

John H. Granger Maintenance & Const. Inc.

Danus Utilities Inc. 6214 Tortoise Creek Ln

611 E. Sam Allen Rd. Plant City, FL 33563

Port Orange, FL

****		Flant City, FL 3.	3303	Port Orange, FL			
ITEM NO.	DESCRIPTION	EST. QTY.	U/M	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
41	RECORD DRAWINGS	LS	1	\$2,000.00	\$2,000.00	\$1,350.00	\$1,350.00
	SUBTOTAL (THE OAKS- RTU 212 ONLY)				\$76,023.50	7.402.35	\$93,492.00
						COLE COLE SALES	
	S-2 - RTU 338						
1	Wetwell Cleaning	SF	779	\$2.50	\$1,947.50	\$10.00	\$7,790.00
2	DR-11 HDPE Wetwell Piping	LF	66	\$25.00	\$1,650.00	\$45.00	\$2,970.00
3	HDPE Flange Adapters w/ Backup Rings	EA	4	\$500.00	\$2,000.00	\$300.00	\$1,200.00
4	6" HDPE Fittings	LB	22	\$27.00	\$594.00	\$100.00	\$2,200.00
5	BPIU.14 Pump Base Ells	EA	2	\$900.00	\$1,800.00	\$900.00	\$1,800.00
6	Pump Base Ell Mounting Plate	EA	2	\$600.00	\$1,200.00	\$850.00	\$1,700.00
7	S.S. Pipe Bracing, 8 ft dia.	EA	4	\$600.00	\$2,400.00	\$450.00	\$1,800.00
8	Intentionally Left Blank				and the second s		
9	Replace Ex. Wetwell Top Slab	EA	1	\$2,300.00	\$2,300.00	\$3,000.00	\$3,000.00
10	4" PVC Vent, Sch 80	EA	1	\$300.00	\$300.00	\$500.00	\$500.00
11	Aluminum Hatch Cover, 48" x 72" (Wetwell)	EA	1	\$1,500.00	\$1,500.00	\$1,950.00	\$1,950.00
12	2" S.S. Pump Guide Rail System	LF	54	\$50.00	\$2,700.00	\$75.00	\$4,050.00
13	Resilient (Link) Seals w/ Carrier Pipe & Liner Repair	EA	5	\$400.00	\$2,000.00	\$200.00	\$1,000.00
14	Wetwell Liner, spray-on	SF	51	\$35.00	\$1,785.00	\$70.00	\$3,570.00
15	Remove & Replace Ex. PVC Drain P-trap (regrout) & Liner Repair	EA	1	\$800.00	\$800.00	\$350.00	\$350.00
16	Grout Fill Ex. Drain, abandon (Meter vault)	EA	1	\$100.00	\$100.00	\$300.00	\$300.00
17	6" Flanged Gate Valve	EA	3	\$800.00	\$2,400.00	\$750.00	\$2,250.00
18	6" Flanged Swing Check Valve	EA	2	\$2,000.00	\$4,000.00	\$1,500.00	\$3,000.00
19	Intentionally Left Blank		ESTES			A SEASON PROPERTY.	Constitution of
20	Ductile Iron Fittings	LB	405	\$7.00	\$2,835.00	\$11.00	\$4,455.00
21	Intentionally Left Blank	STORY AND					
22	6" Male Aluminum Quick Coupler Adapter	EA	1	\$450.00	\$450.00	\$300.00	\$300.00
23	S.S. Adjustable Valve Supports, flange attachment	EA	3	\$300.00	\$900.00	\$400.00	\$1,200.00
24	Abandon Ex. Meter Vault	LS	1	\$500.00	\$500.00	\$900.00	\$900.00
25	Intentionally Left Blank						

83,625,85

	Bid "A" Based on Completion Time of 160 Calendar Days  TEM EST.			John H. Grange & Const. Inc. 611 E. Sam Alle Plant City, FL 33	n Rd.	Danus Utilities Inc. 6214 Tortoise Creek Ln Port Orange, FL	
NO.	DESCRIPTION	EST. QTY.	U/M	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
26	6" Gate Valve, MJ	EA	1	\$800.00	\$800.00	\$900.00	\$900.00
27	6" PVC Pipe (C900) (cross/tee to plug valve)	LF	12	\$40.00	\$480.00	\$25.00	\$300.00
28	16" Influent Line Plug	EA	1	\$400.00	\$400.00	\$1,750.00	\$1,750.00
29	By-Pass Pumping, <500 GPM	LS	1	\$2,000.00	\$2,000.00	\$4,000.00	\$4,000.00
30	Intentionally Left Blank					THE THEO DEPTENDENT OF THE PARTY OF THE PART	
31	Intentionally Left Blank	AND THE PROPERTY OF	promothers in	\$19199425747054712457485560		COLUMN LANGUAGE COLUMN	
32	Intentionally Left Blank			Andrews Control of the Angre of			
33	Intentionally Left Blank						
34	Intentionally Left Blank	C TO SERVICE OF THE S		boli lar fedruationaliteta i Liberary francisco		on hardelikali alicani ones onto a sessioni	
35	Intentionally Left Blank	SAME TO THE PARTY OF THE		ATTEMATEURS CONTROL OF STATE O		A STATE OF THE STATE OF T	
36	Intentionally Left Blank	27 Nach and Ching Agrae (s. c. Grant Ching And Ching Agrae) and the Assessment Agrae (s.	Tara during				
37	Intentionally Left Blank	pic malagner	Glidge States	Supplied the Control of the			
38	Intentionally Left Blank		SPATISTICAL PROPERTY.				
39	MOBILIZATION	LS	1	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
40	MISCELLANEOUS WORK AND CLEAN UP	LS	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
41	RECORD DRAWINGS	LS	1	\$2,000.00	\$2,000.00	\$1,200.00	\$1,200.00
	SUBTOTAL (S-2 -RTU 338 ONLY)				\$45,341.50	4 4 5 W. S	\$59,935.00
	TOTAL BASE BID "A" - Based on Completion Time of 160 Calendar Days		1-1/12/12/12/12		\$189,454.50		\$230,011.00
42	CONTRACT CONTINGENCY WORK (USED ONLY WITH COUNTY APPROVAL)		10% OI	F TOTAL BASE BID	\$18,945.45		\$23,001.10
	TOTAL OFFER FOR BID "A" with Contract Cont Based on Completion Time of 160 Calendar Day				\$208,399.95		\$253,012.10

49,87565

208,399,95

#### Bid "B" Based on Completion Time of <u>220</u> Calendar Days

John H. Granger Maintenance & Const. Inc.

Danus Utilities Inc. 6214 Tortoise Creek Ln Port Orange, FL

611 E. Sam Allen Rd. Plant City, FL 33563

		I lain Oily, i E 33303		Tort Orange, TE			
ITEM NO.	DESCRIPTION	EST. QTY.	U/M	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
IVALED IS	College Plaza- RTU 113						
1	Wetwell Cleaning	SF	327	\$2.50	\$817.50	\$10.00	\$3,270.00
2	DR-11 HDPE Welwell Piping	LF	42	\$15.00	\$630.00	\$75.00	\$3,150.00
3	HDPE Flange Adapters w/ Backup Rings	EA	4	\$300.00	\$1,200.00	\$250.00	\$1,000.00
4	4" HDPE Fittings	LB	8	\$20.00	\$160.00	\$300.00	\$2,400.00
5	BPIU.14 Pump Base Ells	EA	2	\$900.00	\$1,800.00	\$900.00	\$1,800.00
6	Pump Base Ell Mounting Plate	EA	2	\$600.00	\$1,200.00	\$850.00	\$1,700.00
7	S.S. Pipe Bracing, 6 ft dia.	EA	2	\$500.00	\$1,000.00	\$350.00	\$700.00
8	Raise Ex. Wet Well Rim	VF	0.7	\$3,500.00	\$2,450.00	\$2,100.00	\$1,470.00
9	Replace Ex. Wetwell Top Slab	EA	1	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00
10	4" PVC Vent, Sch 80	EA	1	\$300.00	\$300.00	\$500.00	\$500.00
11	Aluminum Hatch Cover, 36" x 48", Single door (Wetwell)	EA	1	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00
12	2" S.S. Pump Guide Rail System	LF	23	\$50.00	\$1,150.00	\$125.00	\$2,875.00
13	Intentionally Left Blank	LUCRE	Sala				A SE SE SE SE SE SE
14	Wetwell Liner, spray-on	SF	288	\$24.00	\$6,912.00	\$18.00	\$5,184.00
15	Intentionally Left Blank						· · · · · · · · · · · · · · · · · · ·
16	Grout Fill Ex. Drain, abandon	EA	1	\$100.00	\$100.00	\$300.00	\$300.00
17	4" Flanged Gate Valve	EA	3	\$800.00	\$2,400.00	\$525.00	\$1,575.00
18	4" Flanged Swing Check Valve	EA	2	\$1,500.00	\$3,000.00	\$800.00	\$1,600.00
19	4" D.I. Flanged Pipe	LF	8	\$100.00	\$800.00	\$100.00	\$800.00
20	Ductile Iron Fittings	LB	255	\$8.00	\$2,040.00	\$12.00	\$3,060.00
21	4" D.I. Flanged Adapters	EA	1	\$250.00	\$250.00	\$125.00	\$125.00
22	4" Male Aluminum Quick Coupler Adapter	EA	1	\$250.00	\$250.00	\$200.00	\$200.00
23	S.S. Adjustable Valve Supports, flange attachment	EA	2	\$300.00	\$600.00	\$400.00	\$800.00
24	Abandon Ex. Valve Vault	LS	1	\$500.00	\$500.00	\$900.00	\$900.00

Bid "B" Based on Completion Time of <u>220</u> Calendar Days John H. Granger Maintenance & Const. Inc.

Danus Utilities Inc. 6214 Tortoise Creek Ln

611 E. Sam Allen Rd. Plant City, FL 33563

				Plant City, FL 3:	3563	Port Orange, FL	
ITEM NO.	DESCRIPTION	EST. QTY.	U/M	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
25	Concrete Slab, Valve Assembly	LS	1	\$380.00	\$380.00	\$1,100.00	\$1,100.00
26	4" Gate Valve, MJ	EA	1	\$750.00	\$750.00	\$750.00	\$750.00
27	Intentionally Left Blank					4 5 6	
28	8" Influent Line Plug	EA	_ 1	\$400.00	\$400.00	\$1,500.00	\$1,500.00
29	By-Pass Pumping < 500 gpm	LS	1	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00
30	3/4 Inch Water Service	LF	10	\$20.00	\$200.00	\$20.00	\$200.00
31	Relocate Ex. Backflow, Meter, & Hose Bibb Assembly	LS	1	\$600.00	\$600.00	\$1,575.00	\$1,575.00
32	Intentionally Left Blank					ANY SHIPP OF STUDY AND STUDY OF STUDY	
33	Intentionally Left Blank		CHORTAL BETTTEN				
34	Intentionally Left Blank			man de la companya de		the production of the last of	
35	Remove & Replace Sch 80 PVC Conduit	LF	30	\$100.00	\$3,000.00	\$75.00	\$2,250.00
36	Remove & Replace Electrical Mounting Structure	EA	1	\$2,000.00	\$2,000.00	\$3,200.00	\$3,200.00
37	Relocate Ex. Control Panel, Meter Can, & Safety Switch	LS	1	\$4,000.00	\$4,000.00	\$5,800.00	\$5,800.00
38	Install New Lift Station Antenna	LS	1	\$10,000.00	\$10,000.00	\$8,250.00	\$8,250.00
39	MOBILIZATION	LS	1	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00
40	MISCELLANEOUS WORK AND CLEAN UP	LS	1	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00
41	RECORD DRAWINGS	LS	1	\$2,000.00	\$2,000.00	\$1,350.00	\$1,350.00
	SUBTOTAL (College Plaza- RTU 113 ONLY)				\$68,089.50		\$76,584.00
	THE OAKS -RTU 212					HE UNIONER	
1	Wetwell Cleaning	SF	343	\$2.50	\$857.50	\$10.00	\$3,430.00
2	DR-11 HDPE Wetwell Piping	LF	40	\$15.00	\$600.00	\$75.00	\$3,000.00
3	HDPE Flange Adapters w/ Backup Rings	EA	4	\$300.00	\$1,200.00	\$250.00	\$1,000.00
4	4" HDPE Fittings	LB	8	\$20.00	\$160.00	\$300.00	\$2,400.00
5	BPIU.14 Pump Base Ells	EA	2	\$900.00	\$1,800.00	\$900.00	\$1,800.00
6	Pump Base Ell Mounting Plate	EA	2	\$600.00	\$1,200.00	\$850.00	\$1,700.00
7	S.S. Pipe Bracing, 6 ft dia.	EA	2	\$500.00	\$1,000.00	\$350.00	\$700.00
8	Intentionally Left Blank				21 m. 10 m.		
9	Replace Ex. Wetwell Top Slab	EA	1	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00

#### Bid "B" Based on Completion Time of <u>220</u> Calendar Days

John H. Granger Maintenance & Const. Inc.

611 E. Sam Allen Rd. Plant City, FL 33563 Danus Utilities Inc. 6214 Tortoise Creek Ln

				Plant City, FL 3:	3563	Port Orange, FL	
ITEM NO.	DESCRIPTION		U/M	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
10	4" PVC Vent, Sch 80	EΑ	_ 1	\$300.00	\$300.00	\$500.00	\$500.00
11	Aluminum Hatch Cover, 36" x 48", Single door (Wetwell)	EA	1	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00
12	2" S/S/ Pump Guid Rail System	LF	31	\$50.00	\$1,550.00	\$125.00	\$3,875.00
13	Intentionally Left Blank					THE STREET	
14	Wetwell Liner, spray-on	SF	314	\$24.00	\$7,536.00	\$18.00	\$5,652.00
15	Intentionally Left Blank						
16	Grout Fill Ex. Drain, abandon	EA	_ 1	\$100.00	\$100.00	\$300.00	\$300.00
17	4" Flanged Gate Valve	EA	3	\$600.00	\$1,800.00	\$525.00	\$1,575.00
18	4" Flanged Swing Check Valve	EA	2	\$1,500.00	\$3,000.00	\$800.00	\$1,600.00
19	4" D.I. Flanged Pipe	LF	8	\$100.00	\$800.00	\$100.00	\$800.00
20	Ductile Iron Fittings	LB	255	\$8.00	\$2,040.00	\$12.00	\$3,060.00
21	4" D.I. Flanged Adapters	EA	1	\$250.00	\$250.00	\$125.00	\$125.00
22	4" Male Aluminum Quick Coupler Adapter	EA	1	\$200.00	\$200.00	\$200.00	\$200.00
23	S.S. Adjustable Valve Supports, flange attachment	EA	2	\$300.00	\$600.00	\$400.00	\$800.00
24	Abandon Ex. Valve Vault	LS	1	\$1,000.00	\$1,000.00	\$900.00	\$900.00
25	Concrete Slab, Valve Assembly	LS	1	\$380.00	\$380.00	\$1,100.00	\$1,100.00
26	4" Gate Valve, MJ	EA	1	\$750.00	\$750.00	\$750.00	\$750.00
27	Intentionally Left Blank						
28	8" Influent Line Plug	EA	1	\$400.00	\$400.00	\$1,500.00	\$1,500.00
29	By-Pass Pumping< 500gpm	LS	1	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00
30	Intentionally Left Blank						
31	Intentionally Left Blank						
32	Remove & Replace Electric Meter Can	EA	1	\$1,000.00	\$1,000.00	\$4,125.00	\$4,125.00
33	Remove & Replace Fused Safety Switch (disconnect)	EA	1	\$3,500.00	\$3,500.00	\$3,850.00	\$3,850.00
34	Remove & Replace Control Panel	EA	1	\$8,800.00	\$8,800.00	\$16,250.00	\$16,250.00
35	Remove & Replace Sch 80 PVC Conduit	LF	20	\$100.00	\$2,000.00	\$115.00	\$2,300.00
36	Remove & Replace Electrical Mounting Structure	EA	1	\$3,000.00	\$3,000.00	\$3,400.00	\$3,400.00
_ 37	Intentionally Left Blank		LIE CHON			A MARINE	

	Bid "B" Based on Completion Time of <u>220</u> Calendar Days	_		John H. Grange & Const. Inc. 611 E. Sam Alle Plant City, FL 33	n Rd.	Danus Utilities Inc. 6214 Tortoise Creek Ln Port Orange, FL	
NO.	DESCRIPTION	EST. QTY.	U/M	UNIT PRICE	PRICE	UNIT PRICE	EXTENDED PRICE
38	Install New Lift Station Antenna	EA	1	\$10,000.00	\$10,000.00	\$8,250.00	\$8,250.00
39	MOBILIZATION	LS	_ 1	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00
40	MISCELLANEOUS WORK AND CLEAN UP	LS	1	\$4,500.00	\$4,500.00	\$3,000.00	\$3,000.00
41	RECORD DRAWINGS	LS	1	\$2,000.00	\$2,000.00	\$1,350.00	\$1,350.00
7744 - 1070 / 2004 / 1070 / 10	SUBTOTAL (THE OAKS- RTU 212 ONLY)	12 31 11 1 (14219) Walls	77	or sutest a sec	\$76,023.50	3/19/44552. <b>983</b> 9	\$93,492.00
	S-2 - RTU 338						
1	Wetwell Cleaning	SF	779	\$2.50	\$1,947.50	\$10.00	\$7,790.00
2	DR-11 HDPE Wetwell Piping	LF	66	\$25.00	\$1,650.00	\$45.00	\$2,970.00
3	HDPE Flange Adapters w/ Backup Rings	EA	4	\$500.00	\$2,000.00	\$300.00	\$1,200.00
4	6" HDPE Fittings	LB	22	\$27.00	\$594.00	\$100.00	\$2,200.00
5	BPIU.14 Pump Base Ells	EA	2	\$900.00	\$1,800.00	\$900.00	\$1,800.00
6	Pump Base Ell Mounting Plate	EA	2	\$600.00	\$1,200.00	\$850.00	\$1,700.00
7	S.S. Pipe Bracing, 8 ft dia.	EA	4	\$600.00	\$2,400.00	\$450.00	\$1,800.00
8	Intentionally Left Blank						
9	Replace Ex. Wetwell Top Slab	EA	_ 1	\$2,300.00	\$2,300.00	\$3,000.00	\$3,000.00
10	4" PVC Vent, Sch 80	EA	1	\$300.00	\$300.00	\$500.00	\$500.00
11	Aluminum Hatch Cover, 48" x 72" (Wetwell)	EA	1	\$1,500.00	\$1,500.00	\$1,950.00	\$1,950.00
12	2" S.S. Pump Guide Rail System	LF	54	\$50.00	\$2,700.00	\$75.00	\$4,050.00
13	Resilient (Link) Seals w/ Carrier Pipe & Liner Repair	EA	5	\$400.00	\$2,000.00	\$200.00	\$1,000.00
14	Wetwell Liner, spray-on	SF	51	\$35.00	\$1,785.00	\$70.00	\$3,570.00
15	Remove & Replace Ex. PVC Drain P-trap (regrout) & Liner Repair	EA	1	\$800.00	\$800.00	\$350.00	\$350.00
16	Grout Fill Ex. Drain, abandon (Meter vault)	EA	1	\$100.00	\$100.00	\$300.00	\$300.00
17	6" Flanged Gate Valve	EA	3	\$800.00	\$2,400.00	\$750.00	\$2,250.00
18	6" Flanged Swing Check Valve	EA	2	\$2,000.00	\$4,000.00	\$1,500.00	\$3,000.00
19	Intentionally Left Blank	Mark Mark	LA SING				
20	Ductile Iron Fittings	LB	405	\$7.00	\$2,835.00	\$11.00	\$4,455.00
21	Intentionally Left Blank	N. Libri		to the total engineering to see a second	analis e		V . 35
22	6" Male Aluminum Quick Coupler Adapter	EA	1	\$450.00	\$450.00	\$300.00	\$300.00

Bid "B" Based on Completion Time of 220 Calendar Days

John H. Granger Maintenance & Const. Inc. 611 E. Sam Allen Rd.

Danus Utilities Inc. 6214 Tortoise Creek Ln

Plant City, FL 33563

Port Orange, FL ITEM EST. **EXTENDED** EXTENDED DESCRIPTION NO. QTY. U/M UNIT PRICE PRICE **UNIT PRICE** PRICE EA 3 \$900.00 \$1,200.00 S.S. Adjustable Valve Supports, flange attachment 23 \$400.00 \$300.00 \$500.00 24 LS \$500.00 \$900.00 \$900.00 Abandon Ex. Meter Vault 1 25 Intentionally Left Blank 26 6" Gate Valve, MJ EA \$800.00 \$800.00 \$900.00 \$900.00 1 6" PVC Pipe (C900) (cross/tee to plug valve) 12 \$300.00 27 LF \$25.00 \$40.00 \$480.00 16" Influent Line Plug 28 EA 1 \$400.00 \$400.00 \$1,750.00 \$1,750.00 29 By-Pass Pumping, <500 GPM LS 1 \$2,000.00 \$2,000.00 \$4,000.00 \$4,000.00 30 Intentionally Left Blank 31 Intentionally Left Blank 32 Intentionally Left Blank 33 Intentionally Left Blank 34 Intentionally Left Blank 35 Intentionally Left Blank 36 Intentionally Left Blank 37 Intentionally Left Blank 38 Intentionally Left Blank 39 MOBILIZATION LS \$3,500.00 \$3,500.00 \$3,500.00 \$3,500.00 1 40 MISCELLANEOUS WORK AND CLEAN UP \$2,000.00 LS 1 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 RECORD DRAWINGS LS 1 \$2,000.00 \$1,200.00 \$1,200.00 SUBTOTAL (S-2 -RTU 338 ONLY) \$45,341.50 \$59,935.00 TOTAL BASE BID "B" - Based on Completion \$189,454.50 \$230,011.00 Time of 220 Calendar Days CONTRACT CONTINGENCY WORK (USED 10% OF TOTAL BASE 42 \$18,945,45 \$23,001.10 ONLY WITH COUNTY APPROVAL) BID \$208,399.95 TOTAL OFFER FOR BID "B" with Contract Contingency -\$253,012.10 Based on Completion Time of 220 Calendar Days